AL - E= 1l R U IR R e ER

hie s 2 i AT IZ I ELE AB D EE
BIE HEST (] &yt [ se=eE WSk [ ks
(] e (] tenE (1 F55U% 15 [ &5 Jaxg-bdr= -+
iEsER | (OmRams 7T EORE (] gt y—% RELE (] ek (] n3As
(] 58 (] EEseazziet) [ zofszs ( )
waR  (LEEREESET3RAICE. BT AmREREFIVILTTE)
e D=4 REFE | O3 A KERT (ROF) BRROBHE o) 50
MEEEEiE Hh@EME  Oxsgz OAsz OdesEm Ox Czof () g~
PRAEE Ok [ assitigek g Czofs ()
FIATRERBEAM 9:00 ~ PM 6:00 (x~ FIFRRHES +-H AM9:00~PM5:00
—iAE mENE 0 M |MoelE 0H
fAHES
Z5l0BE Oy BUL O s
pEEEZSI
mENE 0 M |MoelE 0H
FHREE & ] FAX mEs A=)l (MEERHPAIDA—)LTA—L) O &Oo0s#
FIARG mAR T T 728D, TEF
EEETH ELTFOROBE | Ooo nL  [o#RHFE B
RORR SETOROEE | ov Qo [o#paTE [BE
b EEHA | KPACEALT ] (7= SanEEoaE vz rE FpARE 0 M
[ % 19700 it RFRE 12 fit | KEFA 13 ff#
BUBUEHA [=(uuhiiie> 10 ffit BB 14 H
Y -EX LIPLYAY—ER HEFAY-ER Frgg-£z [ EEY-ER
[ iRty —E2Foys | [ WEEAFHY-ER
EHEBEROERK ®EH = HEIF$
IhKMEZR (= m/a O e O7x=
HE-BH s=0gmmT-I 0oL / & M/= M/E | Ose OF=
ORURR smammmga VT 0 & /A Owe  Oxe
HRHET wir)L—~ 04 m/& OwE %=
samEnE (J-71>7)—n~X) 0& m/8 O e Oxz
saemEnE (J-74>9J3vh-) | 0 & M/a8 Owe [OF=
B LTS o0& m/a Owe [OF=
DAISYixEXEB LR (= m/a O wE OxE
Xt EIBAST 0A M/ A F/h e O7x=
X EIRASEZE 0= M/Z O nE O7x=
MEEHT-EX CIa&n U M/a O e O7x=
RniEsR REY-EROFE ik s HATFH
H—EXAF [EEEQITYT-ORME &b U M/ A F/A | OwE OxE
BEN19>R &b RU FH/h /AN | Ose OF=
BRI S LIRU| o RU H/h F/A | OwE OxE

1/2

1-2



xA-
ARt

ABIBR—k

POV AN EES

BOIFA

REEEE

L =EEE

(I mEbEE/ AN [ sisARe]

FRNERS

e E

XPEEEOHNHEEFIRCEVWVTIR- MY EUHSSOMICOEEH

FULREH

“18

|

Rty —-EX
K%
(] i24tF 197

RANEAEO

(] s Es=miEs
(33124332 R—R

[ &HIBRIR

(] B S 3R > 9 -k
BERN (19>
[ Bhies

L1 742 A =AYb

]

[ DU LA

L] SEB simamEAT

(] SFH4R (Z=AR)

O zrmgsn

(] srsszemi)/ (o oLy k
WESES

(] FH@REORE

(] ZRRsMNEEERT

IRRHkAE

i x

Cmgza-7-

&

L&E-hi1

&

CLzks>

&

TUNF—HIEE

L1&0

CIRU

HEPRRECE R

C1&b

gAY

PRl ZOI= TS

cm &=

=N
=

=l
MEFO
i

2817

hE:m

¥R

=H(A)

AEHE(H)

FrEasE(M)

ER(ES)

BT

—

EEL5|| HiEss]

—fig | EEE

—ig EEE| A6

Ao
=ike

-1

A
=ikt

-2

Ao
=ikt

-3

Ao

=k E —
st
REE-5

Bli% (man)

-1

BIi% (@mah)

8z

Bli% (@ah)

-3

RIFR=E

Bz

F=-1

F=-2

fit-1 (

ft-2 (

fi-3 (

ft-4 (

ft-5 (

2/2

1-2



